EPI 8287

T EATIERS

It Trafag BB ABR— U RMCH. FIEM B ERB URBTNEEHH
RENMRENER Y. SAZERHTIR™R EPI 8297 1R, Tl ES
TixER EPI 8287 WA E R H R E ML MAIRE AR T AR F e T, S A
BEAE ASIC TX £&ER, EPI 8287 AEATEX 125°C WRKRETD
o ZfEBER M EPI 8287 BAREB NI SHEE RN A7 & HEBMRR
GESD

a2 FEIFR
o HHHE 0 RENKHEES
0 RERSA 0 TRIFEERNNEEREBRR, FHIMEH
s TUMEAE ® FEERS0.3%,0.5%
o RS 5 EMEN
0 ERS: wANTARL AISI316L

RAIE

MNERE TS 1512 @ +25°C H1AUE 1 0.5% FS B8 &
+ 0.3 % FS EE(E
NETE 0..2.5%0...700 bar NERRE -40°C ... +125°C
0...30 0...10000 psi
RdES 4..20mA,0...5VDC,0.5...5VDC, IMERE -40°C ... +125°C
1..6VDC,0...10VDC,0 BB45 PVC: -5°C ... +60°C
0.5...45VDCLEZE B4 PUR: -20°C ... +70°C
45 Raychem: -20°C ... +100°C
NLH @ 25°C (BSL) 284 & + 0.2 % FS E28{H

Trafag sensors & controls Industriestrasse 11 +4144 9223232
Switzerland 8608 Bubikon www.trafag.com

sensors@controls

01/2024

MIBRHT2317ac

EEE SR



EhiEn

H72317ac

EE BE 1BRED
[bar] [bar] [bar]
0..25 15 50
0..4 12 60
0..6 18 100
0..10 30 200
0..16 48 200
0..25 75 300
0...40 120 300
0..60 180 400
0...100 300 500
0...160 480 750
0..250 750 1000
0...400 1000 2000
0...600 1500 2500
0..700% 1500 2500
#EHD 5P: AfEEE

0..25 12,5 60
0..4 20 100
0..6 30 200
0..10 50 200
0..16 80 300
0..25 125 300
0..40 200 400
0..60 300 500
0...100 500 750
0..160 800 1000

TR ES7, FREZR 0.5 %; A%} 130 / Shes
HENSEST, KEEELRR 0.5 %; MK} EA30 / Shos
X EN, FEERS:0.3 %; #1# /8O [ 9%
X EN, FEERF:0.3 %; #1# EA#O [ 9%

G1/4" MRS
G1/4" §MELY, Er3: DIN 3869

G1/4" §MELY, ER £25K FAJE @ 0.5 mm), Z45: DIN 3869

14)

G1/4" SMELL (117 EN 8372
G1/2" $MEL (EHF) EN 8377
1/4" NPT §MBLY

1/4"- 18 NPT R4 2

1/2" NPT §hg4 2

EE BE 1RIEED
[psi] [psi] [psi]
75 0..30 90 700 G5
76 0..50 150 850 G6
77 0..100 300 1450 G7
78 0..150 450 2500 G8
79 0...200 600 2500 GA
80 0...250 750 2500 G9
81 0...300 900 4000 HA
82 0...400 1200 4000 HO
8 0..500 1500 4000 H1
85  (..1000 3000 5000 H2
74 0...1500 4500 7000 H3
8  (..2000 6000 10000 H5
8  0..3000 9000 14500 G4
87  0...5000 12500 21750 H4
0...7500 18750 29000 H6
0...10000 18750 29000 H7
i RABRE
55 0..30 150 1450 E5
56 0..50 180 1450 E6
57 0...100 450 3500 E7
58 0..150 700 4250 E8
59 0..200 700 4250 EA
60 0..250 1150 5750 E9
61 0...300 1150 5750 FA
62 0..400 1800 8500 FO
63 0..500 1800 8500 F1
65 0..1000 4600 19000 F2
: 1.4542 (AIS1630)
: 1.4404 (AISI316L) 2 39
: 1.4542 (AIS1630)

: 1.4404 (AISI316L) 239

10 R1/4" 4ME&L, DIN3858 2

17 M14x1.5 MEL DIN EN 1SO 6149-22

15 7/16"-20UNF §MB4L, DIN 38662 ©

53 7/16"-20UNF-2A §M24L, SAE J1926-3 (1Y) 2 19

1 7/16"-20UNF-2A JME4Y, SAE J1926-2 (FE!) 17

2 7/16"-20UNF P24, SAE J512 i) % Hlfi= ©

13 9/16"-18UNF-2A §MBLL, SAE J1926-3 (1RE) 210

51 9/16"-18UNF-2A SME4&Y, SAE J1926-2 (E7!) 17
TG 2/9

EPI 8287

8287. XX XX XX XX XX XX

25
35
23
33

sensors <0 controls



EPI 8287

8287. XX XX XX XX XX XX

HSED $E$HESL EN 175301-803-A (DIN 43650-A), 4} PA 05
HEEHEL M12x1, 5 §t, PBT #4% 35
#&$HE3k Packard Metri Pack, Mat. PBT 2 51
FEEHESK MIL-C 26482, 6 51, /8 2 02
HEEHESL  DINT2585 53 1, A1) PBT (B h44L:Sn) 25
HI4SPUR (IB4ER45HE K PA 6-3),-20°C ... +70°C9 9 2%
HIASPVC (IRAER4AE L PA 6-3),-5°C ... +60°C 8910 2
E4iRaychem (BB4UEE4iHEL PA 6-3),-20°C ... +100°C ¥ 9 10 08

RHES mlES Ak 1(f#eR) U (f#e8)
4..20mA (U £E89V) /20 mA (=HHES) 9...32VDC 19
0..5VDC >2.5kQ <20mA 9..32VDC 14
0.5...5VDC >5.0kQ <20mA 9..32VDC 22
1..6VDC >5.0kQ <20mA 9..32VDC 16
0..10VDC >5.0kQ <20mA 15...32VDC 17
0.5...4.5VDC ratiometrisch ~ >5.0 kQ <20mA 5(4.75...5.25) VDC 23

fioft 2349 FPM, -18°C ... +125°C 61
%44 EPDM, -40°C ... +125°C 63
2549 NBR, -25°C ... +100°C 83
EAEEFEETTH ¢ 1.0 mm, ##11.4305 40
EHIEEMRRTTH 0 0.4 mm, M4 1.4305 (528223, 25) 51.4404 (fERRES 33, 35) 4 4
FEFLHEKEN175301-803-A (DIN43650-A)/NBR, -40°C ... +90°C, ST F ERASEZ 4 ... 9 mm, Bk 32 UL94-V0 46
EFLHELEN175301-803-A (DIN 43650-A)/REMIAS, -40°C ... +125°C, W FEBAER 4 ... 9 mm, P42 UL94-VO 56
T HELEN175301-803-A (DIN43650-A)/NBR, -40°C ... +90°C, ST F EB4ER 4 ... 9.5 mm, BAA 5 2 UL94-V2 58
HFLESL M12x1, 5 33

TRB| AR ST 14, 15T 2 0
(V1SS 4 ... 20 mA FIEE 8RSk EN175301-803-A / DIN43650-A)
BRE| AR ST 1, ST 2 -, 13 3+

(REEHISE 14, 16, 17 FIEISR/AHESL EN175301-803-A / DIN43650-A) %
S| % S 1+, 1 2 -, 5t 3 o7
(mHiES 14,16, 17 M2 A K EN175301-803-A / DIN43650-A)

RS | &0 S 1+, 15 3 -, HisT 5GR -
((aH{ES 4..20mA FIHEsTHESL M12x1, 5 )

S| &R a1+, 1 3 -, 4 15 -
(adES 19 FsBIBREk 35,M12x1, 5 §)

YIRS 5 1+, HEE 3 - "
(EHES 4... 20 mA FIEEZS Ak Packard Metri Pack, 3 £)

HEIKE | & f0E EE 1+, 5 2 out, S 3 - -
(s {ES 14,16, 17 MBI 2K Packard Metri Pack, 3 1)

BASIE OSSR EN175301-803-A (DIN43650-A), B REERE (A 85°C) L9
BAKE 15m M
BAKE 3.0m 3M
BAKE 5.0 m 5M
1R/ BHRIP cP
EQiIE VM

) EPERIEER
2 A[{a]

B TFEAEOLT (G1/4") 8 11 (G1/2")

) RERTEHED 10,11,13,18,24

S BFESEE = 10 bar

8 180 bar 33 FEBY, SRAAIFEFISEHE 60 bar

7 480 bar 33 &R, A IFEFIEE 160 bar

O B KESIMI (RA K 50 K, 5 KA—E)

9 |P68, B 13m, 1R +10°C ... +35°C

10 AR E ;A 3 m BTFESSEE < 16 bar

WATEHENIRE 50 KSR, BFBSEN 05535

2R B FHERER23M25, (VBT EAED 13, 17, 19, 53, (VHHHES4 ... 20 mA ({13 19)

3R B F £ RER237025, (VB FEAHED 13, 17, 19, 53, (XHHHES0.5 ... 4.5 VDC E R (K 23)

) AT ERES 237125

BRAFESEA 13,30,31 751

19 1RIESAE J1926-3 (R E) i1, MEEERAH350bar. RN AT HNI&IT, IFUETE2023 AT A SAE J1926-2 (BR) iR ERIRR AN
) 1RYBSAE J1926-2(E R, M EBEIRA630bar

9 FENRTM&T, RAZEREEE L. HEE R,

H72317ac Tk 3/9 sensors &) controls



EPI 8287

(1£5361) (f£#563)
10 G1/4"IBEL
17 G1/4" §Mgy, Z23: DIN 3869 J Y J
15 G1/4" 9By, £2 5% FRJE @ 0.5 mm, ZE: DIN 3869 v v v
53 G1/4" §MBEL (FE1FR) EN 837
11 G1/2" JMEE (%K) EN 837
30 1/4" NPT R84
13 1/4"- 18 NPT B4
51 1/2" NPT SMES
19 R1/4" JME4L, DIN3858

#$ NBR
(1£7383)

31 MI4xL5 SMEZ DIN EN ISO 6149-2 v
18 7/16"-20UNF 5ME4L, DIN 3866

42 7/16"-20UNF MBS, SAE4 (J1926) v
24 T/16"-20UNF 4B, SAE J512 iRl 15 AS

61  9/16"-18UNF 5MEL, SAE6 (J1926) v

R im (X GEHAPRARAE)

Ems i A EF3EE RAZE ALES {iteg
[bar] [bar] [vDC]
EPI2.5A 8287 752517050000 0000 19 44 58 61 0..25 7.5 4..20mA 9..32
EPI4.0A 8287762517 050000 0000 19 44 58 61 0..4 12 4..20mA 9..32
EPI6.0A 8287 77 2517 050000 0000 19 44 58 61 0..6 18 4..20mA 9..32
EPI10.0A 828778 2517050000 0000 19 44 58 61 0..10 30 4..20mA 9..32
EPI16.0A 8287792517 050000 0000 19 44 58 61 0..16 48 4..20mA 9..32
EPI25.0A 8287802517 050000 0000 19 44 58 61 0..25 75 4..20mA 9..32
EP140.0A 8287812517 0500000000 1944 58 61 0..40 120 4...20 mA 9..32
EPI60.0A 8287822517 0500000000 194458 61 0..60 180 4..20mA 9..32
EPI100.0A 8287 832517050000 0000 19 44 58 61 0...100 300 4..20mA 9..32
EPI160.0A 8287 852517050000 0000 19 44 58 61 0..160 480 4..20mA 9..32
EPI250.0A 8287 74 2517050000 0000 19 44 58 61 0...250 750 4..20mA 9..32
EPI400.0A 828784 2517050000 0000 19 44 58 61 0...400 1000 4..20mA 9..32
EPI600.0A 8287862517 050000 0000 19 44 58 61 0...600 1500 4..20mA 9..32
EPI2.5V 8287 752517050000 0000 17 44 58 61 0..25 7.5 0..10VDC 15...32
EPI4.0V 8287 762517 050000 0000 17 44 58 61 0 12 0..10VDC 15...32
EPI6.0V 8287 772517 050000 0000 17 44 58 61 0.. 18 0..10vDC 15..32
EPI10.0V 8287782517 0500000000 17 44 58 61 0..10 30 0..10vDC 15..32
EPI16.0V 8287792517 0500000000 17 44 58 61 0..16 48 0..10vDC 15..32
EPI25.0V 8287802517 0500000000 17 44 58 61 0..25 75 0..10VDC 15...32
EPI40.0V 8287812517 0500000000 17 44 58 61 0..40 120 0..10VvDC 15...32
EPI60.0V 8287822517 050000 0000 17 44 58 61 0..60 180 0..10VDC 15...32
EP1100.0V 8287832517 0500000000 17 44 58 61 0...100 300 0..10vDC 15..32
EPI160.0V 8287852517 050000 0000 17 44 58 61 0...160 480 0..10VDC 15...32
EPI250.0V 8287 742517050000 0000 17 44 58 61 0..250 750 0..10VDC 15...32
EPI400.0V 8287842517 050000 0000 17 44 58 61 0...400 1000 0..10VDC 15...32
EPI600.0V 8287 862517050000 0000 17 44 58 61 0...600 1500 0..10vDC 15..32

H72317ac T3 4/9 sensors@controls



EPI 8287

RBARE

BSHE BHiES [ HBBE 4...20 mA:24 (9...32) VDC
0..5VDC:24 (9...32) VDC
0.5...5VDC: 24 (9...32) VDC
1..6VDC:24(9..32) VDC
0..10VDC:24 (15...32) VDC
0.5...45VDC kb=
10...90% Uy 25 +0.25VDC

EFadial B1RE 1 ms/10... 90 %ATHRES

EBER 100 ms

R EiRIER, FEERERE @ 25°C, 5 HEH 4..20mAIRA U ,=32VDC
0..10VDC,0...5VDC,1...6 VDC: &Kk U,=28VDC
0.5...45VDC bR {ZX U.=14VDC

FiR&M NEURE -40°C ... +125°C

MERE -40°C.... +125°C
B34 PVC: -5°C ... +60°C
B45 PUR: -20°C ... +70°C
F345 Raychem: -20°C ... +100°C

itiat &l IP65, IP67, IP68

E 5K 95 % HEYI{E

#R5h 15 g RMS (20...2000 Hz) £¥& EN 60068-2-64
25 g sin (80...2000 Hz), 1 Okt./min, (1x @ 25°C) ff&
EN 60068-2-6

& 500 g/ 1 ms gem. EN 60068-2-27

EMCHEFEA M g4t EN/IEC 61000-6-3

T EN/IEC 61000-6-2

HiEhiE ZRk3s (RN R) 1.4542 (AISI630)

EAEO (ERAR) 1.4542 (AISI630) 3 1.4404 (AISI316L)
Hhes 1.4542 (AISI630) 5§ 1.4404 (AISI316L)
S FPM/EPDM/NBR
R SHITHESR
58 £980...110¢g
REHIE 25Nm

VEREBRERE

H72317ac

sensors@ controls



EPI 8287

e
MEFEE 0.3 % MEFEE 0.5 %
TS 23/33 TS 25/35
BIRET @-25...+85°C [% FS EAEI(H] +1.0 t1.75
FBE @ +25°C [% FS E88I{E] +0.3 *05
NLH @ +25°C (BSL) [% FS 8] +0.2 +0.2
TC ERREMERTE [% FS/K E28)(E] +0.01 +0.03
1EKBRE @+25°C [% FS EAEI(E] 0.1 0.1
180° hEs i BEEX M (HREhAlhE) [% FS RK] 0.5 mbar 0.5 mbar
FBE%50.3%
4
3
! 4=l [ _fat—t—T 1]
e e e
3
4

750 40 30 20 10 0 10 20 30 40 50 60 70 8 90 100 110 120 130

Temp.(°C)
max. — — typ.—— I TEB(-25...+85)
£ =]
FBE%R 0.5 %
7
6 —
5 ~~ = =T
4
3 = L —
=2 BN L —— —
=1 — = —
8 0-——+-F——1—1—FE—1—+7F1—F——T+—1—1— Bl
Ell — T =i —
S 2 - =~ ——
6
7
50 40 30 20 -10 0 10 20 30 40 S0 60 70 80 90 100 110 120 130
Temp.(°C)
max. — —  typ.—— 1 TEB(-25...+85)

X IR www.trafag.com/H72317
RIEN IS www.trafag.com/H73317
IMRF www.trafag.com/H70692

H72317ac 7153 6/9 sensors & controls



EPI 8287

40 21 39
1
1
ol 1.4305
QR R L N
[S] % (S (] (S
8287.XX.XXXX.05.XX.XX 8287.XX.XXXX.35.XX.XX 8287.XX.XXXX.51.XX.XX
37.5 13 44.4 139
(,: [ | 1 = \“4\ I |
; - e I - -
"""" Ll 1 i =1 1
A\ A
et \ oy ®
SR 8 1.4301 FE S 1.4301
QT [S] | (S
8287.XX.XXXX.02.XX.XX 8287.XX.XXXX.25.XX.XX
36-38 with male thread | 35.5 cable length 15
48.5-50.5 with female
thread
: 5
o e ———
)
N
~O
(]
©
<t
(]
8287.XX.XXXX.24/22/08.XX.XX
H72317ac DI 7/9 sensors &) controls



R~

G1/4"
M5

o)

06
I
NE

88wy
slg  Qlx
QT
8287 XX XX1L. XX XX.XX
10 145

?5.05x3U
M5x7

0-Ring
08.92x1.83

M5x7

7/16"-20UNF
SAE4(J1926) @295
HEX27

8287.XX.XX42.XX.XX.XX

uai
L

e (1)

1)Tightening torque 50...60 Nem

37

8287.XX.XXXX.XX.XX.46/56

H72317ac

12_2 145 12_2 145

int. dampin
0.5

DIN3869
029.5
HEX27

(5.05x3U
Seal

8287.XX.XX15.XX.XX.XX

14 _ 145

=

021
1/4"-18 NPT
_us

HEX27 ——r—

2
2 20 o
S o
= =
8287 . XX.XX30.XX.XX. XX 8287 . XX XX13.XX.XX.XX
13.5_ 145
Ofing L
011322~ rh
| -
095.05x3U
M5x7
14615
DIN61492 0295
HEX27
8287 XX XX3L. XX XX.XX 8287 . XX.XX18 . XX.XX. XX
15 15
1123
ofi ORing -2
- Ing —
08924183 01242
M5x7 M5x7 B
7116"20UNF .
S g0 9/16"18UNF
: SAE6(J1926) 0295
HEX27 HEXT
8287 . XX.XXXX.69.XX. XX 8287 .XX.XX61.XX.XX.XX

5.5 27

@ 54..60
UL

1)Tightening torque 50...60 Nem

36

8287 . XX.XXXX.XX.XX.58

T8 8/9

8287.XX.XXXX.XX.XX.33

EPI 8287

15
= E
S W A
I3 o | -
o2 &S| J{
2
w [~
N (L
QT

8287.XX.XX53.XX.XX.XX

13.5 6.5 145

05.05x3U

8287.XX.XX51.XX.XX.XX

7/16"-20UNF SAE J512

o —= —
S
1.5
8.6
8287 .XX.XX24 . XX.XX.XX
14.5
12 2.3
0-Ring
012x2

wsy =1 |
9116 18UNF 7 [i

SAE6 (J1926) 0295

HEX27

8287.XX.XXXX.67.XX.XX

sensors <0 controls



EPI 8287

BSiEO
PhirER B SEE
IP65*) **) IPET***) [PT*)**) IP6T7*) **) IP6OK*)
| Z7%: M12x1 Packard MIL-C 26482 DIN 72585**)
EN175301-803A 5-1% Metri Pack Codel
31k
05 35
3 2
5
o
1
o 92 94 | G9 E4
P @ Us pos.supply) 2 1 4111 1 A
4720mA'_:_:_@ Us (neg. Supply) 1 2 1] 313 3 B
I 1—-—;’—@ Earth (housing) @ @ 5 5 4 E
o ——— Shield***
8287 .XX.XXXX.XX.19
i 98 | 97 99
- forDC
P T H—Swely @ | 2 31 2 1 1 1
Output ® 3 1 3 4 3 2 2
————+—+— Common O 1 2 2 3 2 3 4
U r—‘;‘-@ Earth (housing) ® ® ® 5 3
&——— Shield ***)
8287 .xx.xxxx.xx.14/16/17/
22/23

VNERmEBES23

N EFAIRIRAE LR FLIE KRB

) @S S/ A

YRGS P SR R O R AR LR K

pal L b3

IP68 max.3 m IP68 max. 3 m
R4 4
2422 08

&~ Shield ***

8287 .xx.xxxx.xx.14/16/17/
22/23

P -—I‘:}—@ Us (pos. Supply) BE FAN::)
4720mA'_:_:_@ Us (neg. Supply) Iz 26
| @ Earth (rousing) #E 36
T Shielg**®
8287 .xx.xxxx.xx.19

R forDC
P TH+—Swely @ HE pag=]
I gutput ® iz =)
—x—1—+—+— Lommon @ ﬁé %@,
U ‘__b‘_@) Earth (housing) ﬁ@, ﬁ@,

H72317ac

g 9/9

sensors@ controls



